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B.Sc. Programme 4th Semester Examination, 2022
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GENETICS AND EVOLUTIONARY BIOLOGY
Time Allotted: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.

1. Answer any five questions from the following: Ix5=5

fasEike @-w 2ibf etsw Tea nies

G UrFgdeT Y3l IR I8’ —

(a) What is the relation between linkage and crossing over?
foRTe 8 TR SO W T F 9
IS X PRGN He T Seeld T4e9 |
(b) What is pseudofossil?
&I < 9
Pseudofossil & & ?
(c) What is hybrid sterility?
TR IR IHWG P T 9
Bfgs df5a & Bl ?
(d) Industrial Melanism supports Lamarckism. (State True or False)
oI G s M T 30 (rer/Mat))
JENfTd HeAToHel AMIHAIE &1 qALH T8 — (I / 31cY)

(e) ABO blood group is an example of:

(1) pleiotropic genes (1) sex-linked inheritance

(ii1) multiple alleles (iv) extra-chromosomal inheritance
ABO &< & [eie-

(i) @35 f2eBf fEa Snizge (i) T foeT Teaifritaa Swrzae

(i) T2 SIAETSIF Srize (iv) (FICICE-ARge Sealfiria Snizge
ABO W 98 41 721 USeraT SareExv 8l —

(i) wieieiad S| (il) Arafefae gTeRerd

(iii) eSO yferd (iv) THIGT BN gAeRerd
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Give two examples of trisomy in Human beings.

WRCnCR TIReE gt Swizad wis |

AAT CSEMIBT Ggacl IaTevvl oieded |

The scientific name of the modern horse is . (Fill in)

e (@eR Rere as u

JATEd arSTh! dSM~h A3 B (R got T48T)

In Miller’s experiment, which one of the following compounds was
synthesized?

(1) proteins (i1) glycoproteins

(ii1) amino acids (iv) vitamins

iR =i Fefie e @b Seom zrfee-

(i) ciifoe (i) AlECices

(iii) =HIRIC =miPTe (iv) feBifs

freReT wieromr FrfoiRad | ucrel Heelfid we! 8l —

(i) wifes (i) TImIDT wifed

(iii) TfA=r st (iv) MreTe

Answer any three questions: 5x3 =15

- fofe @ivss Te nies
F FaeT yed IR e g —

Briefly describe Mendel’s dihybrid cross.
(CSCeT famsa 2wl 3¢l 1

HUSAD] SIIBASSHTIH] Hera qu el |

Define ‘isolating mechanism’. Briefly describe the different pre-zygotic 1+4
isolation mechanism.

aeifos 7RISR wmEion kel wie | f[ifen &-wiEeiite e smieef 3dq o)
Isolating mechanism &1 URWET e | AT UdReT GomREes
ST T ST qui e |

Write briefly about Darwin’s concept of natural selection. What were its 3+2
weaknesses?
TRGR 2AFFoF MBI FAF IRCHCA @141 G2 TR ARamoreslet @741

SRIAFTHT UThicieh aRuETE IR Giera fCwofl oRefsIN | JHHT 3FaTUT (HHGIN)
S B B

State the ‘law of segregation’. What is the difference between nuclear 1+4
inheritance and cytoplasmic inheritance?

“SRFITae g foform w91 Wofe Teafisix ¢ MEdiee Sealfeies il
(Gl

Law of segregation Scoi® T | MHGT AN DI T gToRe He
3R ¥ RN |
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What is aneuploidy? State the difference between aneuploidy and polyploidy.
Define gene mutation with an example.

wnifezEfe & ¢ SnfaSaafe ¢ siffamfa ot @71 Tugemz fEaa 2ftarfes et
ne |

TRREIS! & Bl ? UNS@e! i uforaras! &l ik Seold T8l | SiF
RICYM BT YRHYT olRe]a 1 |

Answer any two questions:
- 75 elvea Oed wies
Gl GeAcl YLD IR AETBR —

What are the different chromosomal mutations? Define point mutation. Write
short notes on Inversion and Translocation.

fifen (@ee ~fFien avm 7 @) [ «Fafe I A ¢ TTomT ¢
BT 93 R ke Bt @121

-1 9®R &1 DA RCIF & & B 7 Wiy FCITADBI TR
OREBN | SAMEA X A ATIR T fewol oege |

What is natural selection? Elaborate the types of natural selection with
appropriate examples.

2oz foioa FIcE 30 ¢ [fon e Mo Sore SrizgenTz 390 321

UIpid a1 & Bl ? IQTeRvNR A~ UBRST UIpld aRoT IR faRqd aoi
‘Iﬂgﬂ\l

Define Biological Species Concept (BSC). What are the limitations of the BSC?
Differentiate between allopatric and sympatric speciation with suitable
examples.

iETeRE eierifes giel Rge T4 1 3 Qe Asaeiee Fife—e 1 Sieeits
@ Fresifis ewifs s1oca Snizaerz 21ee @4

Sifdes |iReEre (BSC) &I UMY olRejai | BSC &1 dEw (limitations) @
& B ? SUYH IATERVT AR YaAnfgd M RAETs WR™HET &l 3R T

TR |

What do you mean by ‘dosage compensation’? Explain the concept of dosage
compensation with a suitable example. Describe the process of crossing over in
brief.

“(BICTE FACTOT FIE A 9 @3 ARG S9ge Tnizaem A1 F91 FOR G[
“fafofs FREFCH I 41

Dosage compensation H=lel & gfeF® ? IJuYth &RV dosage
compensation &1 IR TR | HIATAMRDI YFhATHhT Fiera qui T |

1+2+2

10x2 =20

2+2+6

2+8

2+3+5

2+4+4



